
Two Step Division Word Problems

A shopkeeper buys 8 crates of pineapples. Each crate 
contains 6 pineapples.  He wants to display the 
pineapples on 4 shelves. How many pineapples 
will be on each shelf?

A teacher brings 4 packs of pencils to school. Each pack 
contains 12 pencils. She has 25 children in her class. How 
many pencils can she give each pupil? 
Will there be any left over?

Harry buys 11 bags of Haribo sweets for his Halloween 
party. There are 6 sweets in each bag. He has 5 friends 
coming to his party. How many sweets 
will they have each?

Jenny has baked 6 trays of brownies. Each tray has 12 
brownies on. She wants to store them in tins and each tin 
can hold 5 cakes. How many tins
will she need?

Max buys 6 packs of Moshi Monster cards. Each pack 
contains 9 cards. He has 3 friends. Can he
share his cards equally among them?


